
 

Installation 
Instructions 

JKS Adjustable Cross-Over Shock Mount Installation PN OGS999 Page 1 of 3 

 
Product: Adjustable Cross-Over Shock Mount 

Part Number: PN OGS999 

Application: Cherokee XJ, 1984-01 

 

Welcome 

CONGRATULATIONS on your purchase  
of a new JKS Adjustable Cross-Over Shock 
Mount! At JKS Manufacturing, we are 
committed to providing you with the best 
products available and your satisfaction is our 
first priority. 

PLEASE READ these instructions carefully, as 
they contain important installation information. 

 

 

 

 

 

Important 

EXHAUST MODIFICATIONS ARE REQUIRED in order to install this product. 

NEW SHOCK ABSORBERS ARE REQUIRED unless optional Rear Axle Shock Mounts  
PN OGS922 are installed at the same time. 
 

Parts  Tools Required 
 

 DESCRIPTION QTY 
A Cross-Over Shock Mount 1 
B Hex Shock Mounting Studs 2 
C 5/8” Locking Nuts 2 
D 5/8” Flat Washers 4 
E 7/16” Flat Washers 2 
F 7/16” Locking Nuts 2 
G 5/16” x 1-1/4” Bolts 4 
H M8 x 30mm Bolts 4 
I 5/16” Flat Washers 4 
J 5/16” Split Washers 4 

 
 Metric/Standard Socket Wrench Set 
 Torque Wrench 
 Hammer & Punch * 
 Die Grinder with Sanding/Grinding Wheel (or 

similar tool for cleaning chassis and axle) * 
 Anti-Seize Lubricant 
 Cutting Wheel or Cutting Torch  

(for removing OE rear shock mounts from axle) * 
 Welding Equipment * 
 Satin Black Spray Paint * 
 Wheel Bearing Grease 
 Factory Service Manual (recommended) 

 

 



JKS Adjustable Cross-Over Shock Mount Installation PN OGS999 Page 2 of 3 

Installation  

 1.  REMOVE SHOCK ABSORBERS 
 Completely remove the rear shock absorbers 

per the factory service manual instructions for 
your vehicle. 

 If shock absorbers will be re-installed, remove 
the bar pin from the upper shock bushings. 

HINT: A hammer and punch may be useful for 
removing bar pin. 

 Inspect the upper shock absorber mounting 
surface for any dirt or debris. If necessary, 
thoroughly clean the mounting surface until 
completely free of debris. 

HINT: A sanding or grinding wheel is useful for 
removing any stubborn material. 

 2.  REMOVE VEHICLE EXHAUST 
IMPORTANT: It will be necessary to remove and 
modify the vehicle’s exhaust system in order to 
install the Cross-Over Shock Mount.  

 Inspect vehicle exhaust and locate the point in 
which the tail pipe can be disconnected from 
the rest of the exhaust system. 

HINT: The factory exhaust can be disconnected 
between the catalytic converter and muffler by 
removing the U-bolt clamp. Aftermarket exhaust 
systems may provide a more convenient 
disconnect point further down the tail pipe. 

 Disconnect the tail pipe from the exhaust 
system per the factory service manual 
instructions for your vehicle. 

 3.  INSTALL CROSS-OVER SHOCK 
MOUNT TO VEHICLE 

 Determine whether the rear upper shock 
mounting holes in chassis require metric or 
standard bolts. 

HINT: The Adjustable Cross-Over Shock Mount 
will be installed using either metric M8 x 30mm 
(H) or standard 5/16” x 1-1/4” (G) mounting 
bolts, depending on the application. Both types 
of bolts are supplied, but only one will thread 
easily into the original mounting holes. 

IMPORTANT: Trial fit metric and standard 
bolts in mounting holes first to avoid  
cross-threading during installation. 

 Place a 5/16” Split Washer (J) and 5/16” Flat 
Washer (I) on the appropriate metric (H) or 
standard (G) mounting bolts. Apply anti-seize 
lubricant to bolt threads. 

 Position the Adjustable Cross-Over Shock 
Mount against the chassis. Align the holes in 
the mounting flange with the original upper 
shock mounting holes. 

 Insert the appropriate bolt assembly through 
each hole in mounting flange and loosely thread 
into mounting hole to hold the Adjustable Cross-
Over Shock Mount in place. 

  
 With all four mounting bolts loosely installed, 

make sure Cross-Over Shock Mount rests 
completely flat against chassis and tighten each 
bolt to 25-35 ft-lbs using a torque wrench. 

 4.  INSTALL REAR AXLE SHOCK 
MOUNTS (OPTIONAL) 

Refer to the following instructions only if you  
will be installing optional Rear Axle Shock Mounts 
PN OGS922 (SOLD SEPARATELY) in combination 
with the Adjustable Cross-Over Shock Mount. 

HINT: The benefit of installing Rear Axle Shock 
Mounts at this time is the ability to re-install your 
existing shock absorbers. If not installing Rear Axle 
Shock Mounts, it will be necessary to install new 
shock absorbers of the appropriate length as 
determined by the vehicle’s lift height and shock 
mounting configuration. 

 Remove the factory rear shock mounts from the 
axle housing.  

HINT: A grinding wheel or cutting torch may be 
useful for removing factory shock mounts, 
although extreme care must be used to ensure 
axle housing is not damaged in process. 

 Grind or sand away any remaining material, 
paint or debris from axle housing to prepare 
surface for Rear Axle Shock Mounts. Surface 
must be completely free of any contaminants. 

 Secure stud to weld-on bracket using a  
5/8” Flat Washer and 5/8” Locking Nut. Tighten 
nut to 65 ft-lbs using a torque wrench. 

 Position Rear Axle Shock Mounts on the  
axle housing between each pair of leaf spring 
U-bolts. New shock mounts should be oriented 
as indicated below.  

HINT: Hex Stud must be parallel with level 
ground. 

 
 Carefully weld the Rear Axle Shock Mount to 

the axle housing, making sure the Hex Stud 
remains parallel with ground. 

IMPORTANT: Avoid overheating axle housing by 
allowing the surface to cool off regularly. 

 Once all welding is complete, spray paint weld-
on shock mount and any bare metal on axle to 
prevent corrosion. All exposed metal must be 
completely covered. 

 Apply a thin coating of wheel bearing grease to 
smooth surface of Hex Shock Stud. 

 Use the remaining 5/8” and 7/16” Flat Washers 
to “sandwich” the shock absorber bushing, and 
secure the shock to the Hex Stud with the 7/16” 
Locking Nut. Tighten nut until shock bushing 
begins to bulge, but do not overtighten. 



 5.  INSTALL SHOCK ABSORBERS 
 Secure stud to Cross-Over Shock Mount  

using a 5/8” Flat Washer (D) and 5/8” Locking 
Nut (C). Tighten the nut to 65 ft-lbs using a 
torque wrench. 

 
 Apply a thin coating of wheel bearing grease to 

smooth surface of Hex Shock Stud (B). 

 Slide a 5/8” Flat Washer (D) onto stud, followed 
by the upper end of shock absorber.  

 Secure upper end of shock absorber to Hex 
Shock Stud (B) with the remaining 7/16” Flat 
Washer (E) and 7/16” Locking Nut (F). Tighten 
nut until shock bushing begins to bulge, but do 
not overtighten. 

 Secure lower end of shock absorber to factory 
shock mount on axle, or optional Rear Axle 
Shock Mounts PN OGS922 if installed. 

 6.  MODIFY VEHICLE EXHAUST 
Due to the position of the Cross-Over Shock Mount, 
the existing tail pipe section can not be re-installed 
without modifications. 

IMPORTANT: Modifications to exhaust system 
should be performed by a professional. 

 To modify the exhaust system, have a new tail 
pipe formed to route between the Cross-Over 
Shock Mount and the vehicle chassis. 

HINT: A heat shield can be installed around tail 
pipe to minimize transfer of exhaust heat to 
surrounding surfaces. 

 Cut the existing tail pipe behind the catalytic 
converter and connect to the new tail pipe using 
an appropriate exhaust joint. 

 Replace any exhaust gaskets and install the 
modified tail pipe on vehicle. Check for leaks. 

 

© 2006 JKS Manufacturing, Inc & Aftermarketing, LLC 
Revision Date 8/8/2007 

JKS Adjustable Cross-Over Shock Mount Installation PN OGS999 Page 3 of 3 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails true
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


